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NO. 1

XERD &, XERD &,
TylExICBIL. x=4DEEYy=12TH5B, 1 2 3 4
2 | ylExICHBIL, x=5DEZy=35 THD, Y 3 6 9 12
S|ylExICHBIL, x=7TDEZFy=-28 TH5B, 1 > 3 5
4| ylExICHBIL. x=4DEEy=-16 TH D, * 6 3 2 1
5| ylExICtflL, x=—6DEE y=-30 THD, 1 2 3 4
6 |ylExCREBIL, x=6DEXy=4Th%, ® 7| 1421 |28
T ylExCTREBIL, x=3D&EEy=5TH5, 1 2 3 4
8 |yExITREBIL. x=5DEE y=2ThH%, * 5 | 10 ] 15 | 20
9 |ylExCREBIL, x=4DEE y=-8 THS. T T 21 3 [ a
10|y ExITREBIL, x=3DEXy=4THS, ® 70 14 | 21 | 28

557 %D, T T T
M y=x 21| y="1x 31| y=2 * 12 6 | 4 | 3
12| y=2x 22| y="%x 32|,-8% T T 21 3 | a
13] y=3x 23| y=2x 33| y=42 Y 6 | -12 | -18 | -24
14 y=4x 24| y=tx 34| =18 . T2 5
15| y=5x 25 y:%x 35| - 24 * 20 | -10 | -5 | -4
16| y=—x 26| y=—7x 36| y=-10 1 > 3 1
17| y=—2x 27| y=—%x 37| y=—A2 ® 4 | 8 | 12| 16
18] y=-3x 28| y=—3x 38| y=-18 3 1 5 6
19| y=—4 29| y=—2x 39| =20 » 6 | 8 | -10 | -12
20| y=—5x 30 y=—%x 40| y--24




